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Find the value of the variable.

1) 629 = 13 + B B = 616

2) C + 540 = 594 C = 54

3) 538 + E = 844 E = 306

4) F = 861 + 124 F = 985

5) 624 + G = 632 G = 8

6) 29 + 922 = H H = 951

7) J = 699 - 389 J = 310

8) K = 881 - 743 K = 138

9) 699 - L = 165 L = 534

10) M - 404 = 30 M = 434

11) N = 327 + 586 N = 913

12) 350 = P - 538 P = 888

13) 838 - 514 = Q Q = 324

14) 474 = 951 - R R = 477

15) 734 = S + 206 S = 528

16) T - 168 = 669 T = 837

17) 627 = U + 588 U = 39

18) 996 - V = 836 V = 160

19) 660 = 953 - W W = 293

20) 999 - 648 = Y Y = 351

Answers

1. 616

2. 54

3. 306

4. 985

5. 8

6. 951

7. 310

8. 138

9. 534

10. 434

11. 913

12. 888

13. 324

14. 477

15. 528

16. 837

17. 39

18. 160

19. 293

20. 351
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Find the value of the variable.

138 985 434 310

913 54 616 951

306 8 888 534

1) 629 = 13 + B B = 616

2) C + 540 = 594 C = 54

3) 538 + E = 844 E = 306

4) F = 861 + 124 F = 985

5) 624 + G = 632 G = 8

6) 29 + 922 = H H = 951

7) J = 699 - 389 J = 310

8) K = 881 - 743 K = 138

9) 699 - L = 165 L = 534

10) M - 404 = 30 M = 434

11) N = 327 + 586 N = 913

12) 350 = P - 538 P = 888

Answers

1. 616

2. 54

3. 306

4. 985

5. 8

6. 951

7. 310

8. 138

9. 534

10. 434

11. 913

12. 888

1-10 92 83 75 67 58 50 42 33 25 17
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